(BF]

FXhE

HE

FH

BAE

& lFirefly

=%

11A16H

TH6EE FESOEEWMRFERIA/NL—R—ILAE

SH6E11H168 (LX) $FHAKTE 12:30~
SH6E11H178(R) F#FHHEAEEE 9:30~

11A17H

B A Bkt & ob E

B6

A, Ba—k
A, Ba—hk
11816H
9 £ZWE—

23-25
2 [25—1 6] 1
30-28

10 [EEE
2[32313]0 Al B2 2[52112]0
11 A
2[3?1%]0 A4 = B5 0[13332]2
*f‘ 12 &KE—
2[5313] 0 A3 B3 0[12353] 2
A4
25-1
2 [18—25 1
25-2
13 HEFsEar
16-25 I
()1 a9 B4 Be o[25):
25-1
2 [17—2%:] 1
! 14 #E
25-14 16—25]
2l 21-251 1 0 2
[ 25—]3] A2 B1 [15—25
B LA T R 15 &l
e Nl
19-25 F 300 AT A H PR 25-14
°[16-25J2 A6 BRABT LR TR B3 2[25- 9J°
16 =MEE
a5 | apEEE | ErEaE | BEEE EHIE | BBIE | SBEIE
hEE | BAE— | Basi— BEHE RERS | BAEN | SHEHAD




(%F] THEEE FESOREHERERFA/NL—R—ILKR

SH6E11H16H (L) HFHAETEE 9:30~ A, Ba—t
SH6EFE11A16H (L) M=DEHLREHKREE 9:30~ C, DI—F
SH6E11HA17H(H) B=E=DEREHKEE 9:30~ C, Da—h
118168 118178 118168
K 1 12 mdbsme
23-25
2 [25—20] 1 =] 0 [}?Zgg] 2
25-20) g D6
T ) m 13 B
25-22
() o SHFSE
23-25 4 B
Al 3 —— 14 B
23-25
1[25—13] 2 C1 D2 o[ ;:%g} 2
16-25
& 15 8
14-25
BiLE 4 s B1 1[25—19} 2
= 5-25
25-11 16 SfE
2 [25—11] 0 C2 *3& B2 0[10—25] )
9-25
ZHWME— 5 C3 I D3 17 #HNI2E
C4
8-25 17-25 25- 8
0 18—25]2 0 [20—25] 2 25—19]0
WEE 6 ' 18 AR
11-25 D4 8-25
° [ 7‘25] ? 17-25 D4 o [‘6‘25] ?
A2 0 [12—25] 2
[L#E 7 — 19 GBI
(2o a 02 o[2%)
JIlg 8 20 /IR
2[322 Z,]o C2 D1 o[ 2232]2
11-25 2RI A T 3L A FE P PR 16-25
o[1i%) 7 oa ERAT S EREER D1 o[11%)?
o [19—25] ) D3 ) [25—12] 0
23-25 25-17
= 11 23 EkomE
=I5 SEEREE | EEEEE | HEEE E¥ET BEET RIEFE
- HEE — 2o - =




